N = 0l & At & Ml A

20188 &= =0l &t 2 BH3)

SN A =T
HE: MEX

e %'gchéi ST T (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
At = X 8,387,641 8,072,048 315,593
= 1,233,328
Xl 384,840
= 887,017
Al 5,882,456
AT SH (Sl Y=4H/ANH - AFE) 1,145,621 1,057,033 88,588
= 483,887
o= 186,981
Al 474,753
A= 1,145,621 1,057,033 88,588
= 483,887
o= 186,981
Al 474 753
(Z)HHEIRD| 643,631 562,262 81,369
= 321,815
o= 96,545
Al 225,271
401 Al HI L E0HHI 643,631 562,262 81,369
= 321,815
o= 96,545
Al 225,271
01 Al&H| 579,631 512,082 67,549
O=ItRIIAL 1,579,469& * 130ha 205,331
= 102,665
& 30,800
Al 71,866
OXEXIRIIALY 1,247,666& * 300ha 374,300
= 187,150
o= 56,145
Al 131,005
02 22l 60,000 46,200 13,800
Ox=IIRIIAIE 2eldl 20,000,000 * 14 20,000
= 10,000
& 3,000
Al 7,000
OZXEXIFRIIAIY 2Zeldl
40,000,000& * 14 40,000
= 20,000
& 6,000
Al 14,000
03 A& 2 0HH] 4,000 3,980 20
O£ RIIAIY AIE2THEl 1,300,0008 * 14! 1,300
=2 650
= 195
Al 455
OXSEXIRIIAY AlE 20
2,700,000 = 14 2,700
= 1,350
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i
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= W
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1,250
375
875

2,500

01 2UH0oibI
O&t& HHOI 2 04

>

= 0N W

2,500

2,500
1,250
375
875

2,500

206 M= Hl

= N H

612
306

92
214

796

A 184

01 M= dl
O&EHHOI 200 A&

gE2Es TYEq
61,

200

o 4
+ (O
In

S0
0z

= MW

612
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306

92
214

796

A 184

307 21201 &
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1240l
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40
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=& N=H|
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e
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12

= N H

187,329
47,667

41,899
97,763

205,114

A17,785

401 AIEHIZL 2 I

= N H

187,329

47,667
41,899
97,763

6,012

01 A& HI

OXZE A

o
o
0!
o
=

O
FA
o
=
1]

4,711,973 * 38ha

6,774,000& * 14!

Z N W

= M W

179,055
179,055
43,241
40,745
95,069
6,774
6,774
4,064
813
1,897

172,311

7,606

6,744

A 832
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SETRRESE CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 AIE 2 0HHI 1,500 1,400 100
OZX gAY 1,500,000 = 14l 1,500
= 362
= 341
Al 797
(R)=UHEIELH BES(FHE) 112,000 98,000 14,000
= 48,000
< 19,200
Al 44,800
402 RIZ2FXt201 ™ 112,000 98,000 14,000
= 48,000
< 19,200
Al 44,800
02 RIZt 2 AL EZ (OIS ) 112,000 98,000 14,000
O=Hg HB3EAUH E= 2,800,000& = 4004 112,000
= 48,000
< 19,200
Al 44,800
(RIS MUIAER0] 29 XA 36,904 32,220 4,684
= 18,452
< 5,536
Al 12,916
101 @14 Hl 36,724 31,170 5,554
= 18,362
< 5,509
Al 12,853
04 JIZHHZ22XREE S 36,724 31,170 5,554
O A=Kz d 18,392
— QI H| 60,2403 * 1 = 25& » 103 15,060
= 7.530
< 2,259
Al 5,271
— 40428 % I=H & 3,332,000& * 14 3,332
= 1,666
< 500
Al 1,166
O=ZHMEXNZAM 18,332
— oIy 60,240& * 1H » 258 * 103 15,060
= 7,530
< 2,259
Al 5,271
—4HEE= 3,072,000& = 14 3,072
= 1,536
< 461
Al 1,075
— o=l 200,000& * 14 200
= 100
< 30
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17,544
5,263
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= M W

N
e
S
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Q
H
P

35,088 0 35,088
11,088,000 * 14 11,088
5,544
1,663
3,881
24,000,000 * 14l 24,000
12,000
3,600
8,400

O
0°
rx
10
0z
rx
S
S
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0x

= N W

O
0o
z
THo
10
om
S
s
P
0x

= MW

(S)LHAIHAIS F T 5,000 0 5,000
1,500
3,500

= M

307 21201 & 5,000 0 5,000
1,500
,500

t

Al

o
N
e
S
0
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e
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5,000 0 5,000
=) 5,000,000& = 14| 5,000
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o
B 0z
Jn
o
0x M
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Q

H

,500
,500

Al
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10,000 0 10,000
3,000
Al 7,000

H

307 glztol & 10,000 0 10,000

3,000
Al 7,000

H

10,000 0 10,000
10,000,000& = 14 10,000

3,000
Al 7,000

N
O e
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om o
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Qe H
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fon
ol
o
Qb
02
4>
z
g
0°
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rx
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N

,425,652 3,918,128 507,524
749,441

84,840
630,836
,960,535

= H

= MmN
N

[Pa
o
HT
fo
w

,653,857 3,103,271 550,586
729,488
610,275
2,314,094

= N H

()L S LXtel (&) 655,100 576,136 78,964
262,039
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2N
X ZH -
L= B

el
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oz oz
0 QU o

HD 2 0f
fon o A

(g
fol
OF
o
%
02
1>
=z
~
0o
Q
[P
i

CHE - EI(BA) - NRAY - BYS

=
i

2

275,142

= N W

630,501
252,200
113,491
264,810

551,537

78,964

04

SO 1At

63,240& = 60 = 1502

622,350 * 60

= 400,000& » 60

Z W = N W

= Hn

630,501
630,501

569,160
227,664
102,449
239,047
37,341
14,936
6,722
15,683
24,000
9,600
4,320
10,080

551,537

78,964

201

= N H

24,599
9,839
4,428

10,332

24,599

01

& Xl 4,000,000 = 5CH

EYESHY |FFU

919,700& * 5CH

= Hn A

= N

20,000
20,000
8,000
3,600
8,400
4,599
4,599
1,839
828
1,932

20,000

4,599

= N H

4,000
1,600

720
1,680

27,400

A 23,400

= N H

4,000
1,600

720
1,680

27,400

A 23,400

QI2HAISHOI 2t FXIE =
2,000,000 = 2CH

= MW

4,000

4,000
1,600

720
1,680

18,400

A 14,400

()M EXSHAR=2S (2 4)

30,472

40,600

A 10,128




2N ME=X
Hu: MUY B (SUWSSA/ALY - HE)
chel: pEEs CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 12,189
& 5,485
Al 12,798
201 gEt24d| 6,785 7,800 A 1,015
= 2,714
& 1,221
Al 2,850
01 AP 22| d| 6,785 7,800 A 1,015
OdtE &l 3t g Al | 5,900& * 1,150H 6,785
= 2,714
& 1,221
Al 2,850
202 044l 6,000 7,000 A 1,000
= 2,400
=} 1,080
Al 2,520
01 2L I 6,000 7,000 A 1,000
Odt= &8st E =0 | 20,000& = 3003l 6,000
= 2,400
& 1,080
Al 2,520
206 M = Hl 16,087 23,400 NT7,313
= 6,435
= 2,896
Al 6,756
01 X2 H| 16,087 23,400 AN7,313
OJjel &l 3 & | 16,087,000 = 14! 16,087
= 6,435
= 2,896
Al 6,756
405 XHoHFE S HI 1,600 2,400 A 800
= 640
o=} 288
Al 672
01 XAt = EF S HI 1,600 2,400 A 800
OFUE=2&I A 800,000 * 2CH 1,600
= 640
= 288
Al 672
(Z)MEXSFHAHARETSI (X2) 7,800 17,800 A 10,000
= 3,120
= 1,404
Al 3,276
201 LBt ]| 7,800 7,800 0
= 3,120
== 1,404
Al 3,276




A M=
HH: MUNE B (SUNSSA/AY - ME)
el MBS CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 2224 H| 7,800 7,800 0
OAtES ALEF 2 HIAI A E 130,000 = 60CH 7,800
= 3,120
o= 1,404
Al 3,276
()= eI 1,670,584 1,484,365 186,219
< 334,117
Al 1,336,467
101 21 214| 759,024 605,592 153,432
& 151,805
Al 607,219
04 JIZ2tHI22XNSE S 759,024 605,592 153,432
ONE2ZAIY olAH (g2 & =8)
72,288 * 70 * 150 759,024
= 151,805
Al 607,219
201 et Y| 835,560 802,800 32,760
< 167,112
Al 668,448
01 AP 2t 2] H| 800,000 800,000 0
ON=283E | Xt 800,000,000& = 1CH 800,000
= 160,000
Al 640,000
02 E2=2=2%H| 35,560 2,800 32,760
Olt=22Z Al AXI2EHIAl A& 140,000 = 20CH 2,800
= 560
Al 2,240
OHt=2ZAE 24| 3,1208 = 70¥ = 150 32,760
= 6,552
Al 26,208
206 M = Hl 15,500 46,973 N31,473
= 3,100
Al 12,400
01 X2 H| 15,500 46,973 N31,473
Ol & st &d NE 200,000& * 40MIE 8,000
& 1,600
Al 6,400
O Xl A& SEA SFE I 7,500,000& = 1A 7,500
= 1,500
Al 6,000
405 Ko SHI 60,500 29,000 31,500
o= 12,100
Al 48,400
01 XA 2 FF S| 60,500 29,000 31,500
OMBHT RoI8SAIE 14,000,000& = 14l 14,000
& 2,800
Al 11,200
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A M=
HaM: METR ES(SSolLSAa/AH - AE)
Sel: NEES o HE)
- _ _ RE]
SA BB (SH) - NRAY - B %@i 2t
OoltelE s agl2tel |Xdl 8,940
—2H2 X (SY 0S2)
10,000& * 100CH 1,000
—246dIIX=2 |A 100,000& = 1400 & 1,400
—AMEIBSHEY ARENAH Y SA22d
50,000& = 50CH 2,500
— MEZAIE =2l 50,0008 * 16= 800
—St2AAXIX S S4AH 100,000 * 128 1,200
—MEXNSIH HIIA &2
160,000 * 128 1,920
—MEXNSIH HIIA =222
10,0008 ~ 12& 120
206 M 2 Hl 2,000 2,000 0
01 =4l 2,000 2,000 0]
Odtegl8s &gl 2 8,000& * 5000 = 5& 2,000
301 LBt A= 6,990 7,190 A 200
09 SHAIAHIEAZ 4,240 4,440 A 200
OAt2 &85 212t01 Z A
7,000& * 100Y = 43| 2,800
OMEAZI WEHH B4
90,000 * 8% x 2& 1,440
11 JIEtE A= 2,750 2,750 0
O/t AIHE A &0 BEAZ 750
— WEH|, AlH| 25,000 * 30¥ * 13| 750
ONENEX a2 50,000 * 10Y * 13| 500
OA2ALE Y= =M0I2 B3 1,500
— 240t 500,000 * 3 A 1,500
303 ZA2 2,600 2,400 200
01 ZAZ 2,600 2,400 200
OUESNHHEE 2 24 JIBEF 2,600
—SHE x4 1,000,000 * 12 1,000
—S8HE 24 500,000 = 200 A 1,000
—SHsS &4 300,000& = 2 A 600
401 AIEHIZ 2 0HY| 50,000 25,000 25,000
01 Al&H| 49,460 25,000 24,460
ONtZ20oHE HAHALE
10,000,000€ * 5ha * 98.92/100 49,460
03 AlE 201 Y| 540 0 540
ONZ0HE HAHALE
10,000,000 * 5ha = 1.08/100 540
405 XHAHF S HI 24,000 1,600 22,400
01 XAt 2 ZF S| 24,000 1,600 22,400
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01 =LHOI LI

OMEHA 258

20,000& = 100
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= N W
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17,275
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51,065
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6,529

59

=z N H
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=z M H
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= N H
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10,000
3,000
7,000

7,000 2,000 5,000
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O W
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of
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s
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3,500,000& * 2CH 7,000
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= Hn W
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= 0N W
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O
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350,0008 * 8% 2,800
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980

= W

()L el (MHEHS)(K2) 6,160 3,080 3,080
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= MW
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—3F= 80,000& * 5t 400
— HXI=S 30,000& * 10& 300
— A ZLIAL 20,000& * 38 60
OS2 Al S =M e 7¢ 415
— Y AHOI 50,000& * 3& 150
— HoE 50,000& * 5& 250
- = 5,000& * 34 15
301 LprE A 800 0 800
11 IIEtE &2 800 0 800
Ositg 22| 2AA Aol =l
200,000& * 4A 800
401 Al HI L 2Tl 30,000 0 30,000
01 Al &bl 30,000 0 30,000
Osdz A2l ArY 20,000,000 = 14 20,000
O 2E AIZ22 ALY 10,000,000& * 14 10,000




D =X WEYD PE(SHHS /LY - HE)
Al 2!

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
()RO=MEREL(XH2) 200,000 200,000
X 100,000
< 30,000
Al 70,000
401 Al HI R 201 I 200,000 200,000
Xl 100,000
< 30,000
Al 70,000
01 A& 8l 198,560 198,560
=O0l=MEd =4
200,000,000& * 14l * 99.28/100 198,560
X 99,280
< 29,780
Al 69,500
03 AlE 2 THHI 1,440 1,440
OROt=dEd =4
200,000,000 = 14 * 0.72/100 1,440
Xl 720
< 220
Al 500
(Z)RotxZT203 XA 10,000 10,000
< 3,000
Al 7,000
307 gl2tol & 10,000 10,000
< 3,000
Al 7,000
02 IZHEHAHE L 10,000 10,000
OROt=Z= 08X 5,000,000 = 24 10,000
< 3,000
Al 7,000
(SNWWESLUROS-IN =4S 104,000 104,000
Xl 73,000
Al 31,000
403 MHtXISHHE X201 & 104,000 104,000
Xl 73,000
Al 31,000
02 S 2SO HEAEE 2 E AL 104,000 104,000
OUEEFAIRUSEL (D= MEI|BES)
104,000,000& * 14! 104,000
Xl 73,000
Al 31,000
(IS SAXNROS-NSASL5 110,000 110,000
Xl 77,000
Al 33,000
403 MtXISHH S =0l & 110,000 110,000
Xl 77,000
Al 33,000
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SN A =T
o =X UWEND PE(SZoHYL/LY - 4E)
Al 2!

el AR RLA (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 BI2SHUSAN2EAEAIS Y 110,000 0 110,000
ONMESARRIISEL (NEEe2S)
110,000,000& * 14 110,000
Xl 77,000
Al 33,000
HHSHAY| (M=) (IIEH/DIE 116,568 109,212 7,356
Jl=23tl 116,568 109,212 7,356
DR ]l 116,568 109,212 7,356
201 B2 A H| 26,708 24,432 2,276
01 AtSR 22l bl 26,708 24,432 2,276
OsAMEX 7 15,000 * 228+ A « 128 3,960
OSZ204aldl 7,000& * 64l x 22H x 128 11,088
Ogbteg 100,000& = 128 1,200
OAFAR S AFLH 50,000& = 12& 600
o272 =44 8,540
— 2 A %2l 500,000& = 1.504 750
— T2l %2 100,000 * 5CH = 50/100 250
— 2A EY 200,000& = 53] = 1.504 1,500
~HDRH Y (2%)
200,000 = 53] = 504 5,000
—PC =2l 100,000 = 2200 = 20/100 440
— J|IEt #=2lH]| 50,0008 * 12& 600
OJIEF AFR2 22| 5,000& « 22 x 12&€ 1,320
202 044 83,160 79,380 3,780
01 2LHOHI 83,160 79,380 3,780
OMtel =X 42F& od| 83,160
— 2L o B 20,000& * 22 * 122 * 128 63,360
— 2204 Hl 90,000& = 229 * 10 19,800
203 & 2 =&H| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
OBNSgIRF=&Y| 350,000 = 128 4,200
204 & 2 4= A H| 1,200 1,200 0
01 SR HAH| 1,200 1,200 0
OXNMBYDLSAY (LB ST BE)
100,000& * 1 = 128 1,200
405 Ko SHI 1,300 0 1,300
01 JHMY =2 ZF SHI 1,300 0 1,300
O2AMMEI ¢ 1,300,000& = 1CH 1,300
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